Div-Neg-L2

Setl

Question 1  [25 marks]

0:

1:

2:

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

(=91) = (—13) =7
(—119) + 17 =
(—182) =7 =
0=

(—240) + (—15) =
232 + (—8) =
0= (—17) =

176 =16 =

231 + (—11) =
(—22) = (—11) =
265 +5 =

363 =11 =

288 + (—12) =
(—214) =2 =
(—320) + 20 =
26 + (—13) =
(—24) = (~2) =
366 + 6 =

18 +9 =

364 + 13 =

170 =17 =

17+ (—17) =
121 =11 =
(—90) + 18 =
(—96) + (=8) =
(—372) = 6 =

Question 2
0: (—331) = (—1) = 331
1 332+ (=2) =
2. (—362) ~ (—2) =
3 100 + (—5) =
4 304+ (—4) =
5 (—162) + (—6) =
6: 180 = (—5) =
7. 165 +15 =
8 (—264) + (—12) =
9: (—147) + (=7) =
10: 361 =19 =
1: (—264) =12 =
122 =0 =
13: (—196) + (—14) =
14: (—48) +8 =
15 (—95) + 19 =
16: 288 + 16 =
17: (—368) + (—8) =
18 (—162) =9 =
19: (—324) +12 =
20: (—333) + (—3) =
21: 216 +8 =
22: (—360) = (—20) =
23: (—88) + 11 =
24: (—250) + (=2) =
25: (—40) + (—2) =

25 marks|

014
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Question 3
0: 234 = (—9) = -26
12 (—380) =20 =
2: =0 =

10: 10+5=

1: 157+ (—1) =
122 (—252) + 12 =
13: 248 =

14: 171+ (—19) =
15: 209 + (—19) =
16: 216 -6 =

17 323 + (—17) =
18: 256 + (—4) =
19: (—348) + 12 =
20: 180 + 20 =

21: (—36) + (—9) =
22: 204 +6 =

23: 225 +9 =

24: 306 + 18 =

25 (—110) + (—2) =

25 marks|

Question 4

0: 95+5=19

25 marks|

1 (—276) = (—12) =

2 263+ (—1) =
5. 240 +12 =
4 (—182) = (=2) =

60) = (—15) =

10: (—17) =

11: 326 + (—=2) =
12 (—24) + (—12) =
13: +0 =

14: 44+ (—11) =
15 (—80) + 20 =
16: 102+ (—17) =
17: 70+ (—14) =
18: (—234) + 13 =
19: 312+ (—12) =
20: 382+ (—2) =

22: 123+ (—1) =
23: 154 +
24: (—375

25: (—152

(=
(=
(=
7 (—134)+(-2)=
(=
(=1
0+

)
(
(
21 300+ (-10) =
(
(
)
)

352) = (—16) =

014
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Question 5 [25 marks] Question 6 [25 marks]
0 (=57) +19 = -3 0 224 + (—8) = -28
L140 s (—20) = L (=9) = (=9) =
2 70+ (=5) = 2 (<272) = (-1 =
5 (~266) + (—19)= 30—
£ (—120) = (-10)= £325+5=_
5 180+ (—20)= 50+ (—1T) =
6 357+ (-3) = 6 (—170)+17=_
n(-299)+13=__ n(-279) + (-9) =
s 24+ (-8) = s (<372 = (—4)=
o Bd+(-9) = o (—270) = (-15)=
10 304 + 19 = 10 (—270) + 18 =
e (—8) - (—4) = e (=364) = (—13)=
b (-323) £ (—19) = b (—200) £ (—10)=
13 (=351)+9=_ 1326+ (—13)=
14: 195+ (—3) = o (—133)+19=
5 (—279) = (—9) = 15 0+ (=7) =
6 160+16=_ 16 (—45) + (—15) =
(<19 =17 = 17 (~366) = (~6)=
15 314+ 1 = 8 (—64) £ 1=_
19 (—276) = (—4)= o (—180) +12=
20 (—90) = (—10)= 20 380+ (=5) =
o 360+ (<18)= o (—176) 1=
22 380+ 1 = 22 119 + (=7) =
2 60+ (~15)= 2. (—266) + (—14)=
2w 50 +5=_ o (—360)+20=
2w TO+14=_ 25 20T +9=_
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Question 7 [25 marks] Question 8 [25 marks]
0: (—150) = 1 = -150 0 374+ 11 = 34
L0+ 17 = 1228+ (—19) =
2 (—132) + 12 = 2 (—319) + 11 =
3 (—150) + (—=3) = 3 (—198) + (—18) =
& 272+ (—8) = £ (—340) + (—20) =
5 (—18) = (—18) = 5 0+ (—15) =
6 (—336) =7 = 6 154 =+ 11 =
7. 342 +6 = 7. 202 +9 =
s (—190) = 19 = s (—378) = (—18) =
9. ~0 = 9: 84 +14 =
10: 160 -4 = 10: 216 <+ 18 =
11: 388 +2 = 11: (—324) = (—6) =
122 28+ 14 = 12 (=51) + (—17) =
13: (—96) +~ 12 = 13: 319+ 11 =
14: (—322) +2= 14: 90 =10 =
15 (—205) +5 = 15: 316 + (—4) =
16: (—100) + (—20) = 16: 57+ (—19) =
17 (—120) +2 = 17: 120 + (—15) =
18: (—48) + 12 = 18 +0 =
19: 305+ 5= 19: 170 = (=2) =
20: 160 + (—16) = 20: 322+ (—14) =
21 (—312) = 13 = 21: 300 =+ (—15) =
22: 204 + 17 = 22: 76 + 19 =
23: (—380) +20 = 23: 180 + 18 =
21 108 =+ (—18) = 2 0+ 18 =
25: 92 +4 = 25: 2606 + 2 =
01/ 7 September 2014 4
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25 marks|

Question 10

25 marks|

Question 9

-7

0: (—567) + 81

0: (—445) + 89 = -5

1. (—870) + 87

1 (—492) =+ 82

2 (—96) = 96

2 (—365) =+ 73

1 (—285) + 57

5 (—792) + 66

5: (—=553) = 79

6: (-87) =87

6: (—222) + 74

7 (—594) = 99

7 (=71) =71

s: (—356) + 89

s (—441) + 63

0. (—204) + 68

9: 0 +81

10: (—693) =99

10: (—616) = 77

11: (—344) =+ 86

11: (—164) <+ 82

12: (—372) =93

12 (—679) =97

13: (—480) <+ 96

13: (—=765) + 85

14: (—136) = 68

14: (—430) = 86

15: (—850) = 85

15 (—162) =+ 81

16: (—81) =81

16: (—284) + 71

7 (—781) =71

17: (—=715) + 55

18: (—803) =73

18: (—372) +93

19: (—828) + 69

19: (—552) + 69

20: (—372) + 93

20: (—798) + 57

21: (—250) <+ 50

21: (—180) + 90

22: (—192) + 96

22: (—68) + 68

23: (—384) + 96

23. 0 =92

24: (—371) + 53

24: (—405) + 81

25: (—288) + 96

25: (—693) = 77
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25 marks|

Question 12

25 marks]

Question 11

-10

0: (—=720) = 72

-1

1. (—510) + 85

1: (—660) + 66

2 (—68) = 68

2 (—532) = 76

5 (—270) + 90

3. 0100

2 (—80) =80

1 (—825) + 55

5: (—752) + 94

6: (—68) + 68

6: (—465) = 93

7 (—208) + 52

7. (—240) + 80

s (—384) + 96

s: (—100) + 100

o: (—64) + 64

o: (—92) = 92

10: (—300) =75

10: (—84) + &4

11: (—=715) =55

11: (—558) +93

12: (—672) =+ 84

12 (—174) + 58

13: (—164) = 82

13: (—182) =91

14: (—158) =79

14: (—356) + 89

15 (—616) =77

15: (—330) + 66

16: (—264) = 88

16: (—H28) + 88

17 (—424) + 53

17 (—172) + 86

18: (—213) =71

18: (—h67) + 81

19: (—231) =77

19: (—525) + 75

20: (—825) + 55

20: (—742) + 53

21: (—50) <+ 50

21: (—774) + 86

22: (—H18) + 74

22: (—355) + 71

23: (—644) + 92

23: (—441) + 63

24: (—657) + 73

24: (—H44) + 68

25: (—408) =+ 51

25: (—336) + 56
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25 marks|

Question 14

25 marks]

Question 13

-7

0: (—602) + 86

-1

1: (—130) + 65

12 (—660) + 55

2 (—110) = 55

2 (—208) + 52

5 (—414) + 69

5 (—280) + 70

2 (—290) + 58

s (—56) + 56

5 (—846) = 94

5 (—693) = 99

6: (—368) = 92

6: (—140) = 70

7. (—98) + 98

s (—752) + 94

s (—51) =51

o: (—702) + 78

10: (—268) = 67

10: (—].71) = H7

11: (—198) =99

11: (—366) = 61

12: (—820) = 82

12 (—891) =99

13: (—285) =95

13: (—87) + 87

14: 0+ &0

14: (—236) + 59

15: (—696) <+ 58

15: (—528) + 88

16: (—384) + 96

16: (—97) =97

17 (—237) + 79

17: (—249) =+ 83

18: (—bb) + 55

18: (—275) + 55

19: (—666) =+ 74

19: (—392) =98

20: (—316) =79

20: 0+ 80

21: (—159) <+ 53

21: (—=710) + 71

22: (—97) +97

22: (—300) + 75

23: (—610) + 61

23: (—432) + 54

24: (—540) <+ 60

24: (—116) + 58

25: (—480) + 60

25: (—270) + 90
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25 marks]

Question 16

25 marks]

Question 15

-2

0: (—170) + 85

~ 9

0: (—702) + 78

1: (—567) + 63

1: (—820) + 82

2 (—425) + 85

2 (—603) = 67

5 (—219) =73

5 (—792) + 99 =

4 (—825) =+ 75

1 (—168) + 84

5. (—420) + 70

5. 0+ 82

6: (—504) + 56

6: 068

7 (—196) + 98

7 (—390) = 65

s: (—85) + 85

8 0+88

o: (—658) = 94

o: (—156) = 78

10: (—90) =90

10: (—93) =93

11: (—220) =55

11: (—693) =77

12: (—136) + 68

12: (—425) =85

13: (—732) +61

13: (—594) + 66

14: (—825) =+ 55

14: (—510) =+ 51

15: (—510) = 85

15 (—316) + 79

16: 0+95

16: (—410) + 82

17: (—684) + 76

17: (—801) <+ 89

18: (—660) = 60

18: (—166) + 83

19: (—99) =99

19: (—600) = 50

20: (—455) + 65

20: (—465) + 93

21: (—558) + 93

21: (—640) <+ 80

22: (—784) + 56

22: (—290) + 58

23: (—104) + 52

23: (—729) + 81

24: (—336) + 84

24: (—756) + 84

25: (—780) + 52

25: (—570) + 57
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Question 17 |25 marks] Question 18 [25 marks]

0: 522 + (—58) = -9 0: 69+ (—69) = -1
1204 < (—68) = 1 61+ (—61) =
2: 114 + (=57) = 2: 315 =+ (—63) =
3 732+ (—61) = 3: 305 + (—61) =
4 752 = (—94) = 1 665 = (—95) =
5. 280 = (—56) = 5. 455 = (—91) =
6: 208 + (—52) = 6: 756 = (—63) =
7. 448 + (—64) = 7. 700 =+ (—=100) =
& 522+ (—87) = 8 532+ (—76) =
0: 539 = (—77) = 9: 396 < (—66) =
10: 198+ (—66) = 10: 360 + (—=72) =
549+ (<61) = 11; 688+ (—86) =
122 810 = (=hd) = 12: 201 + (—67) =
13: 89+ (—89)=_ 13: 504 + (=72) =
14: 780+ (—65) = 14: 53 + (—5H3) =
15: 675+ (=75) = 15: 672+ (—96) =
16: 256+ (—64) = 16: 72+ (=72) =
17: Bh8 + (—62) = 17: 324+ (—81) =
18 190+ (=95) = 18: 648 + (=72) =
10: 582+ (—97) = 19: 806 + (—62) =
20: 435+ (—87)= 20: 610 + (—61) =
2 544+ (—68) = 21: 86 < (—86) =
22: 630+ (—90) = 22: 850 + (—50) =
23: 582+ (—97) = 23: 136 + (—68) =
24: 750+ (=H0) = 24: 316 + (—=79) =
25: 300 ~ (—=100) = — 25: 188 + (—94) =

014 7 September 2014 9
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Question 19 |25 marks] Question 20 |25 marks]

0: 672+ (—96) = -T 0: 891 = (—99) = -9
LTAT = (-83) = L0 (—72) =

2 120 = (—60) = 2 320 + (—80) =
3 285+ (—95) = 5 803+ (—73) =
4 196 + (—98) = & 522+ (=58) =
5 376+ (—94) = 5 220 + (—55) =
6: 120 + (—60) = 6: 564 + (—94) =
7. 172+ (—86) = 7. AT4 + (—T79) =
8 576+ (—96) = 5 450 + (—75) =
9: 114 + (=57) = 9: 468 + (—78) =
0: 63+ (—63) = 10: 819+ (—63) =
nTR2 (04 = 1: 100 + (—100) =
122 255 = (=hl)= 12: 594 = (=99) =
13 118+ (=59) = 13: 80+ (—80) =
14: 258 = (—=86)= 14: 516 + (—86) =
15: 0+ (—88) = 15: 264 + (—66) =
16: 352+ (—88) = 16: 784 + (—56) =
7312 (<52 = 17 410 = (—82) =
18 90+ (-90) = 18: 700 + (—=50) =
19: 84+ (-84)=__ 19: 638 + (—58) =
200 704+ (—64)= 20: 665 + (—95) =
21: 819+ (-91)=__ 21: 104 + (=52) =
22: 486 +~ (—81) = 22: 87 + (—87) =
23: 198 + (—66)= 23: 195 + (—65) =
24: 154+ (=77)= 24: 603 + (—67) =
25: 783+ (—87)= 25: 580 + (—H8) =

014 7 September 2014 10
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Question 21 |25 marks] Question 22 |25 marks]

0: 620 = (—62) = -10 0: 522 = (—58) = -9
170+ (=85) = 1: 201 + (—67) =
2 498+ (—83)=__ 2 525+ (=75) =
5. 85+ (—85) = 3 693 < (=77) =
4 806 + (—62) = 4 83+ (—83) =
5 312 + (=78) = 5: 356 < (—89) =
6: 219 = (—73) = 6: 408 + (—51) =
7 640 = (—80) = 7. 819+ (—91) =
8 330 + (—55) = 8 600 -+ (—100) =
9: 136 = (—68) = 9. 192 + (-96) =
0: 583+ (—=53)=__ 10: 246 = (—82) =
1 183+ (=61) = 11: 696 + (—87) =
12 719+ (=79)=__ 12: 356 + (—89) =
13: 539+ (=7T7) = 13: 700 + (—50) =
4 140+ (=70) = 14: 781+ (=71) =
15: 200+ (—50) = 15 679 + (=97) =
6 71+ (=7T)=__ 16: 340 + (—68) =
17 702+ (—78) = 17 264 + (—88) =
18 792+ (—88) = 18: 55+ (—55) =
19: 270 = (—90) = 19: 475 + (—95) =
20: 430+ (—86) = 20: 116 <+ (—58) =
o1 208+ (=52 =__ 21: 732 + (—61) =
22: T8+ (=T8)=__ 22: 465 + (—93) =
23: 300 = (—100) = 23: 0+ (—66) =
24 576+ (=72)=__ 24: 690 + (—69) =
25: T68 + (—96) = 25: 224 < (—56) =

014 7 September 2014 11
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Question 23 |25 marks] Question 24 |25 marks]

0: 285 =+ (=57) = -5 0. 171 = (=57) = -3

1700+ (~100) = 1+ 490 + (—98) =

2 784+ (—98) = 2 T4+ (—86) =

3 708 = (=59) = 3. 588 + (—98) =

4 304+ (—76) = & 62+ (—62) =

5 780 + (—65) = 5 350 = (—70) =

6 164+ (—82) = 6 126 = (—63) =

7. 244 = (—61) = 7. 441 = (—63) =

8 180 =+ (—90) = 8 767+ (—59) =

o: 780 + (—60) = o: 390 + (~78) =

10 720+ (-90) = 10: 252 + (—63) =

700+ (—70) = 1 268 + (—67) =

122 544+ (—68) = 12: 632+ (—=79) =

13: 174+ (-87)= 13: 204+ (=5l) =
14: 485 = (—97) = 14 79 + (—79) =

5 336 (—84) = 15: 252 + (—84) =

16: 612+ (—=bl)=__ 16: 320 + (—80) =

17: 726+ (—66) = 17: 360 + (—72) =

18: 390+ (=78) = 18: 0+ (—89) =

19: 378 = (=hd) = 19: 550 = (=hH5) =

20 549+ (—61) = 20 847+ (=77)=
21: 366 + (—61) = 21: 130 +(—65)=_
22: 276+ (—69) = 22: 728 + (—56) =

23 372+ (—62)= 23: 380 + (—76) =

o ATT+(=B3) = 21: 65+ (—65) =

25: 891 = (=81)= 25: 67 + (—67) =

014 7 September 2014 12
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25 marks|

Question 26

25 marks]

Question 25

—480) = 8 = -60

[ N T

0:

+7=-49

Fon e T s T e T s e s s s s s e s T s s T

N N~ N~ N~ Y~ Y~ Y~ N~ Y~ Y~ ~  ~ N~ ~ ~ ~ ~ ~ ~ ~ ~ ~ @ ~ ~

0:

=2

2:

=8

3:

=6

4:

=38

5:

=1

6:

=7

7

=5

8:

=8

—~ o~ o~ o~ o~~~

9:

=3

9:

=2

10:

=1

10:

=8

12:

=1

12:

=1

13:

=9

13:

=9

14:

=5

14:

=7

15:

=6

15:

)

16:

=2

o~ o~ o~ o~ o~ o~ o~~~

17:

+8

17:

=2

18:

=4

18:

=9

19:

=2

19:

+6

20:

~—~~ N I~ o~

=7 =

22:

—4

22:

=95

23:

=9

23:

=9

24:

=9

24:

=9

25:

13
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25 marks|

Question 28

25 marks]

Question 27
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25 marks|

Question 30

25 marks]

Question 29
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25 marks|

Question 32

25 marks]
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Question 33

0. 114 +
1: 676 +

2: 520 =

10: 96 = <—1

11: 699 +
12: 201 +
13: 958 +
14: 168 +
15: 860 +
16: 225 +

17: 432 =

(
(
(
(
(
(
(
18: 872+ (
19: 854 + (
20: 740 <+ (
21: 867 + (
22: 105 =+ (
23: 262 + (
24: 504 + (
(

25: 304 —

25 marks]

0: 840 =
1: 483 =+

2: 339 +

Question 34

9: 176 = (—=8) =
10: 816 =+ (—8) =
11: 616 + (—4) =
12: 737+ (—1) =
13: 744+ (—1) =
14: 280+ (—=7) =
15: 536 = (—8) =
16: 666 + (—2) =
1 66+ (-1)=__
18: 714 + (—6) =
19: 388 + (—4) =
20: 669 +~ (—1) =
21: 45+ (-9)=_
22: 176 = (—8) =

(
23: 756 + (

24: 180 + (=5
(

25: 380 =

25 marks|
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Question 35

0: 776 = (—8)

1. 828 T(

2 666 = (

10: 742 +
11: 792 +
12: 720 +
13: 160 +
14: 604 +
15: 679 =
16: 369 +
17: 738 =+
18: 630 =
19: 496 +
20: 204 +
21: 594 =+
22: 871 =+
23: 287 =+
24: 315 =+

25: 618 =

- 13: 800 +

14: 490 +
- 15: 504 +
- 16: 385 +
- 17: 741 +

- 18: 712 +

(
(
(
(
(
(
(

- 19: 315 =+ (=7
- 20: 310 + (
- 21: 825 + (
- 22: 816 + (
- 23: 735 + (
- 24: 724 + (
(

- 25: 282 =+

25 marks] Question 36 |25 marks]

0: 736 <+ (—2) = -368
6)=__ 1618+ (—6)=
N=___ 2801+ (—9)=___

- 6: 008 +(—-9) =
- 7100+ (=5) =
- 8 684+ (-3)=__
- 9: 216 +(-9) =
- 10: 229+ (-1) =
- 1w M (-N=—
- 12: 446+ (—2)=
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Question 37

0: 551 + (
1 425 = (
2: 432 + (
(
(

10: 666 =
11: 250 +
12: 874 +
13: 432 +
14: 690 +
15: 608 =
16: 364 =
17 732 =+
18: 519 =
19: 508 +
20: 264 =+
21: 287 =+
22: 656 +
23: 750 =+
24: 546 =+

25: 669 =

25 marks] Question 38
551 0: 660 + (—2) = -330
- 1309+ (-3) =
- 2 1725 ()=
S 5318+ (-1)=__
- £ 606+ (-3)=__
5161+ (-T) =
S 6 555+ (—3)=__
- T ()=
- $ 207+ (-9) =
S 0 890+ (—5) =
- 0 441+ (<9) =
- 1w 119+ (-1)=_
S 12 618+ (<2) =
S 13 575+ (<h) =
- 14: 812+ (-7)=
- 15820+ (—4) =
S 16586+ (~1)=
- 17206 (—4)=
- 18 85+ (—5) =
- 19 104+ (—8)=
S 20: 828+ (—9)=
- o 384+ (—6)=
- 2 1124+ (—4)=
S 2: 556+ (—4)=
- 2 488+ (—8) =
- 25 123+ (—3)=

25 marks|
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Question 39

0: 170 + (—1) = -170

25 marks]

168+ (—8) =
2 555+ (—=5)=___
272+ (-9) =
2 627+ (—1) =

5. 226 + (—2) =

6 101+ (—1) =

7 798 + (—2) =

8 136 + (—8) =

9: 790 + (—2) =

0: 471+ (=3) =
11: 324+ (=3) =

12: 640 + (—2) =

13: 448 + (—8) =

14: 724+ (=2) =

15: 246 + (=3) =

16: 863 = (—1) =

1799 (=3) =

18: 109 —

19: 111 +

21: 726 =

22: 837 +

(=1)
(=3)
200 T35+ (=H)=__
(=6)
(=9)

23: b4+ (=3)=

24: 3BT+ (-7)=

25: 594+ (—6)=

Question 40

0: 486 + (—3) = -162

25 marks|

98 (=T)=
2: 652 + (—4) =
3 261 + (—9) =
4 376 + (—4) =
5: 840 + (—8) =
6: 522+ (—3) =
7. 376 + (—8) =
8 179+ (—1) =
0: 837 =+ (—9) =
10: 711+ (—9) =
11: 288 <+ (—6) =
12: 542 =+ (=2) =
13: 575+ (=5) =
14 744 =+ (—6) =
15: 837 =+ (—9) =
6: 51+ (—1)=_____
17: 464 = (=8) =

18: 736 —

20: 894 =
21: 742 =

(=8)
(=1)
o U7+ (-T)=
(=3)
(=7)

22: 6+ (—3) =

23: 420+ (-3)=

24: 448 + (—8)=_

25 704+ (—4)=__
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Div-Neg-L2 Set1

Question 41 |25 marks] Question 42 |25 marks]

0: 884 +26 = 34 0: 260 + 26 = 10

L (=450)+10= 1 (—308) + 28 =

2 658 +14=___ 2 144 + (—24) =
3190+ (-19)=__ 3. (—360) + (—1) =
4 (—696) +29=__ 4 (=58) + 1=

58 +17T=___ 5. 600 <20 =

6 312+ (—8)=___ 6: 890 + 5 =

7 (—264) = (—8)= 7 76+ (—19) =

g 544 +16=__ 8 (—530) + 10 =

9 (—414)+18=__ 9: (—432) + (—12) =
10: 696 = (—29) = 10: (—342) + 19 =
11: (—868) + 11: 720 + (—24) =

12: (—506) +22=___ 12: 87 + (—29) =

3 0=___ 13: 589 + (—19) =
14120+ (=5) = 14: 650 + (—13) =

15 (—495) +9=___ 15: 864+ 18 =

16: (—300) = (=25) = 16: 300+ 5 =
17240+ (—=15) = 17 (—460) + (—20) =
18 (=570) = (=30)= 18: (—676) + 13 =

19 140 = (=20) = 19: 720 < (—24) =

20: 686+ (—14)=____ 20: 888 + (—24) =

o1 (=25) = (=25)= 21 (—396) + (—22) =
22: (—657) = (—=1)=______ 22: 0+ 10 =

23: (—200) = (=p) = 23 (—784) = (—8)=____
o1: (—499) = (=1)= 21: (—340) + 4 =

25: 700+ (—14)=_ 25. 17+ (—11) =
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Question 43

0 (—432) + 27 =
L (—732) = 12 =
2: 624 =24 =

5 (—459) + 17 =
& 510 + (—15) =
50096 +1 =

6 (—575) = 23 =
7. 798 + (—19) =

s (=760) = 8 =
9: (—416) =16 =
10: (—860) +20 =
1 (=351) = (~13) =
12: 763 +7 =

13: 276 + (—23) =

14: (—50) =+ (—25)

15 840 + (—14) =
16: (—30) =10 =
17: 808 +~4 =

15 (—22) =11 =
19: (—351) + 13 =
20 728 + (—13) =
21: 184 + (—23) =
22: (—775) +25 =
23 252 =+ (=7) =
24: 782 + (—17) =
25: 180 + (—30) =

-16

25 marks]

0:

1:

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

Question 44

25 marks|

(—420) + 28 = -15
308 + (—14) =
744 =24 =
(—200) = 20 =
(—203) = (—29) =
(—256) + (—16) =
0=+7=

(—483) = 7 =

630 + (—30) =
(—784) + 14 =
350 =+ 25 =

805 + (—23) =
319 = (—29) =
=0 =

(—880) + (—22) =
(—864) + 18 =
(—686) = 14 =
804 -4 =

391 =23 =
(—196) = 28 =
(—651) + (—21) =
(=550) =22 =
700 + 7 =

(—330) +~ (—11) =
(—120) = (—30) =
693 = (—21) =
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Question 45

0:

1:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks]

(—805) = (—1) =
(—420) + (—15) =
600 + 20 =

(—11) =+ (—11) =
532+ (—28) =
414 =18 =

388 + 4 =

598 + 23 =

238 = (—14) =
(—580) + (—20) =
880 = 16 =

420 + (—28) =
583+ 11 =

87+29 =

Question 46

0:

1:

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

442 =26 = 17
224 -4 =

0=

190 + (—19) =
(—696) + (—12) =
549 +9 =

30 +10 =

(—664

(—880) = (—20) =
(—858

030
624 =13 =

(—896) = (—2) =
374+ (—22) =
462 = (—21) =
502 +1=

372+ (—12) =
(—585) =+ 5 =
256 + (—16) =
(—16) ~4 =

(—440) + (—20) =

25 marks|

R —

)+ (-6)=
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Question 47

0:

1:

2:

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24: —

25:

266 +~19 =14

592 + (—8)
290 +5 =
320 =20 =
(—667) + (—29) =
(—425) + 17 =

25 marks]

0:

1:

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

Question 48

25 marks|
350 = (—14) = -25

(=539) = (~11) =

66+ 11 =
228 = 6 =
432 + (=3) =

498 =2 =

(—120) + (—12) =
648 < 6 =

0+(-9) =
0+ (—26) =
(—684) ~ (—19) =
28 + (—14) =
416 + (—16) =
323 = (—19) =
D18 +7 =

864 = 16 =
(—175) = (—=7)
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